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A T
GENERAL KNOWLEDGE

1. [T Hifd TEHR ASHT 1 & 39 Fefetfiad § @ sE-a1 g 7
(A) ATfrepTies sl | fad) o SRINT hl Sicariad s
(B) 3Tferehiiteh St T IS <l TcHTiEd HEAT
(C) YR § &= WTI3T Sl S@reT el
(D) &= & i i T e e
Which of the following is the main objective of the Rajbhasha Kirti Puraskar Yojana ?
(A) To encourage the use of Hindi in official work
(B) To encourage English in official work
(C) To Promote regional languages in India
(D) To honour Hindi poets

2. 3IcHd Uide forg a9 yroy fepam R 2

In which year was the UTSAV portal launched ?

(A) 2024 (B) 2023 (C) 2020 (D) 2022
3. Tt -1 W g - 11 % |1 gafaa i qen gl & e few T e @ w8 3w g |
T - -1l
(FEh) (T&R)
a. 3Rfae Ifsm . g Tig 3% Wi g
b. fertor gams Il. § STeReH 3% ord
c. Iyl T lll. § SBTEL TEN
d. <. @, qrEeid IV. 3 T 3l &2
%c:
(A) a=lb=lll,c=Il,d=1IV B) a=lllLb=1,c—=1,d=1IV
(C) a=Il,b—=1V,c—1,d-1l (D) a=IV,b-1,c—Ill,d-1
Match List — | with List — Il and select the correct answer from the code given below the lists.
List -1 List—1I
(Author) (Book)
a. Arwind Adiga I. The God of Small Things
b. Kiran Desai [I. The Inheritance of Loss
c. Arundhati Roy lll. The White Tiger
d. V. S. Naipaul IV. In a Free State
Code :
(A) a=lb=lll,c=Il,d=1IV B) a=IlllL,b=1l,c—=1I,d=IV
(C) a=l,b=1V,c—1,d-1l (D) a=IV,b=1,c—1Ill,d=-1
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4. HHA-H IRAT FE, 2024 T F. 20 AR HUS HT TR GART B H ATeft TR T8eft

ST 99 W= ?

Which Indian company became the first Indian company to achieve a market capitalization of Rs. 20 lakh

crore in 2024 ?

(A) Reliance Industries
(B) T.C.S.

(C) HDFC Bank

(D) Adani Enterprises

fope IIeER 39 & IcTed & fore anii ufag 2 7

(A) ST (B) weft

(C) &g (D) ufrm
Nagaur is famous for the production of which aromatic crop ?

(A) Cumin seeds (B) Fenugreek
(C) Garlic (D) Coriander

IR T Tgell IH:TI1S BIE16T8 Tehe &1 -1 gaifua fopam
(A) 31 fegar 2024

(B) 04 fegsT 2024
(C) 04 fodsX 2024
(D) 24 FTET 2024

India’s first reusable hybrid rocket Rhumi-I was launched on
(A) December 31, 2024
(B) December 04, 2024
(C) September 04, 2024

(D) August 24, 2024
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7. T -1 g 1 A g i A g % S i e g w3 9 |

T -1 A -1l

(3 fergaferaner) (¥2T)
a. Tled g favafermer . I
b. STl TG S| god fevafaamer II. SHICTehTCT
c. IUNH TETER o fervafarame™ 1. e
d. 9. greterral IMt g favaferamer Iv. T
e :
(A) a—IV,b—1lll,c—1l,d—1 B) a—lll,b—1Il,c—1V,d—1
) a=Il,b=1,c—1IV,d=1Il (D) a=IV,b—Il,c—1,d=1I

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1 List—1I
(Open University) (Place)

a. Global Open University I. Kota
b. Netaji Subhashchandra Bose Il. Kolkata

Open University

c. Vardhman Mahaveer [ll. Bilaspur
Open University

d. Pt. Sundarlal Sharma IV. Dimapur
Open University

Code :
(A) a—IV,b—=Ill,c—1l,d-1 B) a-Illbb=Il,c—IV,d-1I
(C) a=ll,b=1l,c=1IVv,d-1l (D) a=1V,b=1l,c=1I,d-1l

8. 0 U I e w1 uh r=nies st gid & ? 2

(A) TREmR (B) ®ISH

(C) M= @A (D) ®fies TEmd
Which one of the following is not a source of informal agency of education ?
(A) The family (B) The community

(C) General games (D) Religious institutions
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9. T I T T U Y ¥ IE ik Faferd I |
. NG THRT HT FTH
1. e fafer
NI, SN o 32
IV. 3Rl T HUE
A g T e # § WA v g
<<
(A) 1L, Iv, B) I 1v, 1,1
(C) 1LV, I (D) L, n, v
Arrange the following from beginning in a sequence.
I. Selection of research problem
Il. Method of research
[ll. Objective of research

IV. Data collection
Choose the correct answer from the code given below :

Code :
(A) 11,0V, 1 B) I, 1V, I, 11
(C) 1,1, 1V, 1 (D) 1,1, n, v

10. = 3 e & S & T &I A (A) 71 g I HWT (R) FaT T R

W(A):%ﬁ.w.w. T IR uTett 8 S8 IRd TR < f3e maerd 3 2015 § 3®
o |

W(R) TH. 378, 3T, U, Rl I299 TAR= HYEUE] & SR T WRd W1 H I=a e geam i
fsagr 3R aeEsfi Yot YegH T 2 |

et fou e e @ W& IW g

w .

(A) (A) (R)aﬂﬁwéaﬁi (R) . (A) sl Hel ST Tl 2

(B) (A) 3 aﬁw%w(m,mwﬁaﬁwqﬁm%

(C) (A) &= % g (R

(D) (A) 7T & T (R w %

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : The NIRF is a ranking system introduced by the Ministry of Education,
Govt. of India in 2015.

Reason (R) : NIRF aims to provide a fair and transparent assessment of higher education
institution across India based on various parameters.

Select the correct answer from the code given below :
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false

(D) (A)is false but (R) is true
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11, wemeE | forr Sor wfafedm &y 3w w=n § 7
a. ST & JER 9 TSR W@ |
b. TS TR} 1 W T |
c. T3S L&t ST |
d. FEhT T § ghg |

= feu MU e § § T W g

He:

(A) HI a, b, ¢ (B) A a, ¢, d
(C) ®ad ¢, b (D) e b, d

What are the major uses of Big Data Analytics in governance ?
a. Tracking the spread of diseases.

b. Predicting election outcomes.

c. Enhancing cyber security.

d. Increasing govt. tax revenue.

Choose the correct answer from the code given below :

Code :
(A) a, b, conly (B) a, c,donly
(C) c,bonly (D) b, donly
12, &® g wfquifed smTenes Sfees gvani § frefoifaa & & wiv wftafod 78 & 7
(A) Y (B) ST (C) fergetwor (D) =LA

Which of the following is not included in the cognitive educational objective proposed by Bloom ?

(A) Comprehension (B) Application (C) Analysis (D) Organization
13. fr=fofga & @ S-a1 b 31185, Joredt 1 uesk TEi 7
(A) BTEIRR (B) HTHRRR (C) = (D) STH{IH TR

Which of the following is not a component of an ICT system ?

(A) Hardware (B) Software (C) Information (D) Biometric sensors
14, TR H AR S 37 fufor & wH W # ST 2, Faerd! @
(A) 3R 37 T (B) IR TTH (C) Mamanwa (D) W W3 W

The memory of the computer which is programmed at the time of its manufacturing is called as

(A) ROM (B) RAM (C) PROM (D) EPROM
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15. =1 5 ¥ % U HEW g (TIE) TR T8 & 7

(A) T = &R (B) wifteft

(C) FAE (D) =¢ S
Which one of the following is not an Atrtificial Intelligence(Al) tool ?
(A) Google Play Store (B) Gemini
(C) Claude (D) Chat GPT

16. Trfafed & & % Te1 TGW0 1 HRT 7 ?

(A) 3TSTH (B) TUHTA (C) fag-awt (D) T
Which of the following is the cause of soil pollution ?
(A) Ozone (B) Aerosol (C) Acid-rain (D) Smog

17.  “foifraes o= 9w 2

(A) TSIH a1 (B) dfept a=1 &1
(C) Y=< d=t =pl (D) IcES - T
“Limbic system” is part of

(A) Reproductive system (B) Nervous system
(C) Digestive system (D) Excretory system

18. fo=foifiga & @ %9 9yra 9 31 fegsw 2024 6 THER A B 7
a. SRGU I=ASHE ATAROT
b. TG A

C. wmﬁ’ﬂ%’
d. GeaRR T e

fra fou e e # & wE IR AT

%he:

(A) HI a IR b (B) e b, ¢ 3N d
(C) a, b, c 3 d (D) haeT a 3 ¢
Which of the following is a Ramsar site in India as on December 31, 2024 ?
a. Bakhira Wildlife Sanctuary

b. Ramgarh Lake

c. Sundarban Wetland
d. Sultanpur National Park

Choose the correct answer from the code given below :

Code :
(A) aandbonly (B) b,candd only
(C) a,b,candd (D) aandconly
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19. o gu fora 2
(A) 3AveHH | OREEIELE:] (C) wergi | (D) Tafverr &
‘Barren’ Island is situated in
(A) Andaman (B) Nicobar (C) Lakshadweep (D) Minicoy

20. 3TMVTe STl HEAM, gl hl TATOHT e g3 off ?

In which year Atomic Energy Institute, Trombay was established ?

(A) 1948 (B) 1950 (C) 1952 (D) 1954
21, = ST e vd TS % AW % 1S T ™ € | 9 et o g i |
gy T T
1. I GTR - eI
2. R deetvg - fym
3. Ul AT — T
4. TSR - I
(A) 1T 25 B (B) 179 4 Tl &
(C) 27 3 W (D) 2H 4 wE
Ramsar sites and name of states paired below. Choose the correct pair.
Ramsar Site State
1. Sakya Sagar —  Madhya Pradesh
2. Sirpur Wetland —  Tripura
3. Pala Wetland —  Meghalaya
4. Sur Sarovar —  Uttar Pradesh
(A) 1 and 2 are correct (B) 1 and 4 are correct
(C) 2 and 3 are correct (D) 2 and 4 are correct
22, form 3rfireig # hiefied e Wl SF1 &1 396 91 9 Scoig fidar g ¢
(A) TITT T (B) Vg e
(C) e AfrorE (D) foadt Ty srfvora
In which inscription both Kalidas and Bharavi are mentioned by their names ?
(A) Prayag Prashasti (B) Aihole Prashasti
(C) Ayodhya Inscription (D) Bhitari Pillar Inscription
23. gferur rhieet O 99 fomig < ua e bt S Y A1 § e -wt ueelt < mft oft ¢
(A) HA (B) T (C) HNI=E TSR (D) "SR
Which rank was given to Gandhiji in British Army at the time of Julu Revolt in South Africa ?
(A) Colonel (B) Sergeant (C) Sergeant Major (D) Major
24. ‘ST fRm v # foraft wft oft 2
(A) T (B) THi (©) sreh (D) 3§
In which language was ‘Babarnama’ written ?
(A) Persian (B) Turkish (C) Arabic (D) Urdu
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25. e Aokt hi LR H I 83

(A) Iteforn o (B) ¥Ra §

(C) wgFd TS Uit | (D) ITEeE fohen #

The concept of Public Interest Litigation was originated in

(A) Australia (B) India

(C) United States of America (D) United Kingdom (U.K.)
26. AU T I TH AN 7 e AT g AT ?

(A) 16 3TTEd 1947 (B) 26 & 1947

(C) 09 TcHSX 1946 (D) 26 IR 1946

When was the first session of Constitutional Assembly held ?

(A) 16t August 1947 (B) 26t January 1947

(C) 09t December 1946 (D) 26" November 1946

27. WA % Gfaum # fFrefafad § @ SH-01 38 99 AATfUsR 8 Tefd 8 ?
(A) ITT=T 324 (B) 3TT=sG 325 (C) =2 326 (D) HI=aq 327

Which one of the following Articles of Constitution of India deals with adult suffrage ?

(A) Article 324 (B) Article 325 (C) Article 326 (D) Article 327
28. EA 3cUTeH H WRA 1 fava H -8 TIH 8 ?

(A) 5| (B) fedfra (©) T (D) =q¥

What is the rank of India in the world in rice production ?

(A) 1t (B) 2 (C) 31 (D) 4"
29. f.uA.31E. (P.L.I.) ThiA forH T & © gafeq I8 8 7

(A) meTse fafmtor (B) 3TCIHISTSA 3T

(C) Tafercar Iushtur (D) 3T | & IS Tl

PLI scheme is not related to which one of the following ?

(A) Mobile manufacturing (B) Automobile industry

(C) Medical devices (D) None of the above

30. WRd § TaAAT < qvETd {H R i AT L 1 AT 297 o1

(A) fErEH fopami =t iy 1 gAfda (B) 3T T <h! @TeT Al

(C) M JENT I FTeATEd HET (D) Wl &g PN M 1 SR

The primary objective of land reform in India implemented in the Post Independence was

(A) Redistribution of land to landless farmer (B) To promote real estate

(C) Promotion of agro industries (D) Privatization of agricultural land for cultivation

-9- 77
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31. Al A 3R B UHl Q1 "o g o w1 foeg w9 M &1 2, @ &em A 3R B 2
(A) TH G % Th (B) T
(C) TER 3TTasi (D) 3TTfa
If A and B are two events which have no point in common, then event A and B are
(A) Complementary to each other (B) Independent
(C) Mutually exclusive (D) Dependent
32. QU A I B & Hfed g hl SAfdkatd TRehdrd J1d 8, <1 TSI o Teh A1 bidd 81 <hl
TR gt |
(A) 3o (B) (C) TH (D) ¥

The individual probabilities of occurrence of two events A and B are known, the probability of
occurrence of both the events together will be
(A) greater (B) smaller (C) one (D) zero

33. U fgUg & ol A1 3T JH0T ShAYT: 8 3R 48 | P[X = 1] SR &AM
The mean and variance of a Binomial distribution are 8 and 4 respectively. P[X = 1] is equal to
A %" ® %' © ¥ () 14
34. Terelt <1 © =faat 1 oS fopd TR 1 ATgfoss TR 7
(A) Fad Ags® =
(B) Tafesm amgfess =X
(C) 7 fafaam 3R 7 & Tda Igfa® =
(D) Tad 3 T & fafae agfeas =
The height of persons in a country is random variable of the type
(A) Continuous random variable
(B) Discrete random variable
(C) Neither discrete nor continuous random variable
(D) Continuous as well as discrete random variable

35. r=17 oI UTHeh fge & nb(x, r, p) A & 1T &

(A) Tgug & (B) HigeH foawur/siea

(C) VTR &2 (D) EREWI3TAES T
Negative Binomial distribution nb(x, r, p) for r = 1 reduces to

(A) Binomial distribution (B) Poisson distribution

(C) Geometric distribution (D) Hypergeometric distribution

36. oo SEMI= S H (1, 5) o1 S0 M, | (1, t,) % 0T o &9 H TR S Fehell &

(r, s)h moment in a bivariate normal distribution can be found M, t1, t,) as the coefficient of

(A) Bt (B) tt ©) ht D) 1t
/ s /

-10- 77
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37. afg foreht ag=a™ &% Y actiehd i 10 ¥ fauifora foran S, @t 13 stactiet &1 wd. €. 8
(A) Tt ST % TE. &, @ % a

(B) et el % T, g w1 i
(C) 1 Uierd= &l g
(D) TS ARl b TH. S 1 10 o

If each observation of a set is divided by 10, then the S. D. of the new observations is
th

(A) ) of the S. D. of original observation

th

y
(B) 100 of the S. D. of the original observation

(C) not changed
(D) 10 times of S. D. of the original observations

38. dfg foreft STaf sied o1 mred, Weh fo=e STR SR T ST 60, 45 3R 0.4 7, @ IR
A 1 SgAh BT
If the mean, standard deviation and coefficient of Skewness of a frequency distribution are 60, 45

and —0.4 respectively, then the mode of the frequency distribution is
(A) 80 (B) 82 (C) 78 (D) 68

39. afg X 3 Y wdA B, 1 AHIH IR Byxwwtﬁm

(A) O (B) 1

(C) oo (D) Th YTcH HE&AT
If X and Y are independent, then the value of regression coefficient Byx is equal to
(A) 0 (B) 1

(C) (D) A positive number

40. W1 Y= § his @S A& &, a1 p =0 % feTL OC 1 B B &

When there is no defective in the lot, then the OC function for p =0 is
(A) L(0)=0 (B) L(0)=1 (C) LO)=x (D) LO) ==

41, G I TR y = a + bx H 7o fog =l g1 a9 f8 SIHaRd w fean S, @ ufa axfieo
T =’ X i g ufeeenfua feram smem |

If the origin in the trend equation y = a + bx is shifted backward by two years, then the variable X in
the trend equation will be replaced by

(A) (X-2) (B) (X+2) (©) % (D) (X+2)?

42. feu U gig WAL 15, 24, 18, 33 3 42 & T o7 a9 & =1 3MEq @
For the given five values 15, 24, 18, 33 and 42, the three years moving averages are
(A) 19,22,33 (B) 19, 25, 31 (C) 19, 30, 31 (D) 19, 31, 33

-11- 77
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43. WRA I WAAAT o A1G, I 3R T TSieor Aafrm T T feram I o |

In post-independent India, the registration of Births and Deaths Act was passed on

(A) 1948 (B) 1959 (C) 1969 (D) 1979
44, HEehih EAT % Hedl o e qfe i i
(A) 0¥ 1 (B) 0% oo (C) -19 1 (D) -0 & oo
The range of homogeneity error in reference to index numbers is
(A) Oto 1 (B) O0to « (C) —1to 1 (D) —oo to o
45. IfE AYE FAH 80, 120 3 125 7 3N Ik Haferd TG WX 60, 20 37T 20 7, @1 U oo
I 8

If the group indices are 80, 120 and 125 and their respective group weights are 60, 20 and 20, then
the consumer price index is

(A) 108.33 (B) 97.00 (C) 98.49 (D) 101.41

46. T AT X, , Xy, ..., Xy Teh 5 & Teh Agreeh Ufdies! &, forent sfdest 5&wn 5 3 | 7m0
X= .5 x 3 g% (x )", T EE) P A 2
Let X4, X5, ..., X541 be a random sample from a distribution having the sample variance 5.

_ 1& 21 —\2 X
Let X=—S'x and S= X, —X) , then the value of E(S) is
2% 84 S =2, (X X) ©

(A) 5 (B) 100 (C) 0.25 (D) 105

47. AW T X 3R Y & wdd @ Agfes R, U=(%)z I e 8

(A) 2d.f. % T HE-aT
(B) 1d.f. % |y HE-a
C) (2,2)d.f. s AU F

)

(
(D) (1,1)d.f. s WA F

Let X and Y be two independent normal random variables, then the distribution of U = (X _yj is
(A) Chi-square with 2d.f. Y
(B) Chi-square with 1d.f.

C) Fwith (2,2) d.f.

)
)
)
D) F with (1, 1) d.f.

(
(
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48. WM o AGFEH I X, Y= 3 3R 6 o A1Y T (g9¢ e W@l & |
Hy:0= 1) hfeeg Hy: 0= 3 dftsheu 1 qdiemn sreefienr BaT @ afe X < 1 a9 wliam @l 2

4
(A) 34114Tq=332,m°?m=2732 (B) Y= 5/, wfw = 18,
(C) ¥ = 15/, wifd = 27, () s = 1/, Wi = 3

Let the random variable X have binomial distribution with parameters 3 and 6. A test of hypothesis
Hy: 0= 3 againstH; : 0 = % rejects H, if X < 1, then the test have

. 5 :
(A) Size = = . power = 2732 (B) Size = %2 , power = 18/32
(C) Size = 1%2 , power = 2732 (D) Size = %2 , power = 3%,2

49. Ife 9<i 3zl & Ufded § I B hi 31 Wifrehat B, 1 98 I19 &
(A) TTTEATIT o T ==
(B) 3T o FUTd H WTRrehar o @1 ==
(C) Tt wiRreha & @1y ===
(D) STRRAT ==
If larger units have greater probability of their inclusion in the sample, it is known as
(A) Selection with replacement
(B) Selection with probability proportional to size
(C) Selection with constant probability
(D) Probability selection

50. 3ATHY ‘n’ <kl Ueh Ufdest ufeeermon afed weh fewmdt smeen 8 foren mn 2 | afe ufaest § goft 1 <6
TEGIT T STFAE p 3 Af 1l T I q &, T I p B AH B

A sample of size ‘n’ is drawn with replacement from a dichotomous population. If the sample has
proportion p of items of category | and proportion q of category Il, then the estimates of proportion

pis
1

A) 2= B) g2
(A) s, ——Pd (B) s2

51. HaeIun § T wfdfshan 1 27 gran 2
(A) ITETATT Sl STl
(B) ITEIATST G TeATEA STTE 7 HEAT
(C) Wicrafeal g1 FEHT & & $HR
(D) 39U et
Non-response in Surveys mean
(A) Non-availability of respondents
(B) Non-return of questionnaire by respondent

(C) Refusal to give information by the respondent
(D) All the above

:%pq (©) s2=-"pq (D) s2=—p%q
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52. ﬁmﬁﬁfﬁaﬁaﬁwﬁﬁaﬁaﬁ% F&d hH T FEfRId i |
a. Z|§i'°®q; 31|54656q:|
b. AGSH @ AR
c. Afeq =t srfireredan

d. Fqfeld 37U @UE ST

e feu e forekedt § @ TE W T
(A) d,c,a (B) a,b,c (C) a,d,c (D) b,a,c

Arrange the following designs in ascending order of complexity.
a. Completely random design
b. Randomized block design
c. Latin square design
d. Balance incomplete block design

Choose the correct answer from the options given below.
(A) d,c,a (B) a,b,c (C) a,d,c (D) b,a,c
53. frafaritaa R Taumonst o1 ITh! Wfed & T HH ¥ HARAT Hl (T8 HHAR § Tad
TSI doh) |
a. STfrehat H SrfrEror
b. e | JAfrERE
c. oy fAfeea srfvmmo
I feu U foepedt § & & S T
(A) e ¢, b, a (B) e b, ¢, a (C) %ad a, b, ¢ (D) e b, a, ¢
Arrange the following convergence concepts in ascending order of their strength (weakest to strongest).
a. Convergence in probability

b. Convergence in distribution
c. Almost sure convergence

Choose the correct answer from the options given below.

(A) ¢, b,aonly (B) b, c,aonly (C) a, b, conly (D) b, a, conly
54. WEAL IHS! W ITeh! AHI FASAAT < Taial A H mfciiaa fafemi i safeurd =i
a. HRTeHIeE gl
b. Y@ T fowersm
c. Hh fergeryo
Sy for T ket B @ @) R R
(A) e ¢, b, a (B) et a, b, ¢ (C) %ad b, c, a (D) %ad ¢, a, b
Arrange the following methods in descending order of their general applicability to multivariate
data :

a. Mahalanobis Distance
b. Principal Component Analysis

c. Factor Analysis

Choose the correct answer from the options given below :
(A) c, b,aonly (B) a, b, conly (C) b, c,aonly (D) c, a, bonly
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55. = Q YA 7, TH § Th 1 AR (A) T G 1 HRU (R) FHal T 2 |
TR (A) : Haferd 31qul @ugsh MfiTehedT § Toish SUUR M G | @uel # fe@rs 2ar @ |
SHRUT (R) : BIBD ¥, @Ue ! T&A, I @Ue IR hl & 3TN Teeh U= hi Ffrapfd
<1 T At fafirse wrem o gr feifa i St R
et fou e e @ wE IW gRT

(A) (A) 3T (R) G & & 3 (R), (A) 1 Tt ST HeaT &

(B) (A) 3R (R) SHI & & T (R), (A) HT T samE T el &

(C) (A)&ea 8 WG (R) TTewd &

(D) (A) TTefd B 9% (R) & @

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : InaBIBD Incomplete Block design, each treatments appears in the same
number of blocks.

Reason (R) : In a BIBD, the number of blocks, the number of treatments per block and number of
replications of each treatment are all determined by specific combinational properties.

Select the correct answer from the codes given below :
Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A)is true but (R) is false

(D) (A) is false but (R) is true

56. T9=1 &l T TR H AT HIfT :
|. ShRehT 3T 3h T 1 TgeH L |
II. g9 3R ufefshan = bl aitariyd = |
I1I. STkt o Torfira TSI T ST hieh JERT T oo i |
IV. SERTICHeh Seh1Sal i ITDR ATgfese &9 § Efed & |

ﬁ%ﬁquﬁéaﬁwa’ﬁn :
%
(A) 1,11, 1V, 1l B) 1,1V, 11l I (©) 11, 111, IV, | D) I, I, I, IV

Arrange the following steps in a sequence :
I. Identify the factors and their levels.
Il. Define the objective and the response variable to be measured.
Ill. Conduct the experiment by applying the different combinations of factors levels.
IV. Randomly assign the treatment to the experimental Units.

Choose the correct answer from the code given below :
Code :
(A) L1 Iv, B) L1V, 1,11 (C) 1,1, v, 1 (D) I, 1, 1v
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57. WH o T X, Xy, Xg, Xy (k= 1, 2, 3) o AU T ATgfedeh =R &, Mkl T Herd
fk(x)z{kGe_kex,qﬁ0<x<oo
0, 31T
STEf 0> 0, 6 % foTq T 3fehs &

Let X4, X5, X5 be independent random variables with X, (k = 1, 2, 3), the probability density
function

koe K% if 0 < x < o0
fk(X) =
0, otherwise
where 0 > 0, the sufficient statistics for 0 is
(A)X1+X2+X3 (B)3X1+2X2+X3 (C)X1+X2+3X2
58. = Jeqont =1 A foaeH @
1, -2, -3, -4, -5, -6, -7, V1,42, /3,4, /5,6,7

Standard deviation of the observations

1, -v2,-3, -4, -5, -6, 7, 1,2, 3,4,5,V6,V7 is

(D) X, +2X,+ 3X
1 2 3

(A) V2 (B) 2 (C) 2v2 (D) 4
59. wTgfoseh = X W § foh
X UW+o u—o

P(X) JA A

T FHea1 TN B, B

A random variable X is such that

X W+o W—-o

P(X) A JA

then the coefficient of Kurtosis B, is

(A) O (B) 1 (©) o?

D) c*
60. & T N, K % e TEar 2, oAififeesh dreet  foshm ot (det) T I BT R 7 & K T8
&TAT B
(A) IE THNIcHS &l ATl 8 (B) I [ % S Tgadl @
(C) ¥8 T&r a1 2 (D) ¥ §&d Joft & Sl B

What happens to the growth rate (det) in the logistic model as N approaches
K, when K is the carrying capacity ?
(A) It becomes negative

(B) It approaches zero
(C) It remains constant

(D) It increases exponentially
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61. foremor <t waEGT o1 glieror s & o wEn § 9ideie o e & dgd s aiferehl §

For testing the equality of variance, the test statistic under Bartlett’s test in ANOVA is

(A) 75 =22026 9/ (B) 15 =2.4026 9/
(©) 7 =250269 (D) x=2.30269/

62. WilceR Teh fvad w1 % T&iHfd e TR 8 AfYs @Ua quEdl &l 98] wH
& T weaa 2, fer a8 rferes 7€ | 3@ Hiftg 9= = 39 &9 4 S S 8
(A) AQL (B) LTPD (C) AOQL (D) frmfar = sifew
The buyer agrees to tolerate a lot quality worse than acceptance quality level up to a certain limit
but not beyond it. This limiting value is known as
(A) AQL (B) LTPD (C) AOQL (D) Producer’s risk
63. @fe RZ 3= WiQTTHl T X; b1 G: ST K H 1 Tehrfereh Ferfor ortes &, it jt sfcre qome
o foru firrar =hifa sRes (VIF) 1 30 TR for@n S gehar 8

If R2 is the coefficient of multiple determination obtained from regressing X on other
regressmn the Variation Inflation Function (VIF) for the jt" regressmn coeff|C|ent can be written as

(A) ﬂmj?) B) %naf) (©) (1—Rf) (D) ,/ (1+R?)
64. IeH (1937) 2° haiiet feme & Sfeat yurat & forw U <l " JHHH] HEd 2 |

Yates (1937) calls the ratio , the relative information for the confounded effects in 23
factorial designs.

(A) 3 B 2 © Y o Y%
65. < G U & TS0 | T 1 IARHAA (A) T G Sl HRU (R) FHal T 2 |

frRed (A) : SfmHa ToTe got 3R 3o % i | @Wad 8 |

RO (R) : HEEES-E UM ST T[UTieh T AT T1eT & |

) (A)aﬁt (R) T wea & 3 ( R) A)EﬁH&‘TG&T@Tm%
(B) (A) 3T (R) G & & W (R), (A) 1 HEl =T TEl i
( ) (A) T & T (R) TTewd @
(D) (A)TTefd B g (R)W%
Given below are two statements, one is labelled as Assertion (A) and the other as

Reason (R).
Assertion (A) : Regression coefficients are independent of change of origin and scale.

Reason (R) : Correlation coefficient is the geometric mean of the regression relationship.
Select the correct answer from the codes given below :
Codes :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
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66. WRETATHISE D2 EIfETehl 1 TIfieh 3299 1 & ?

67.

68.

69.

(A) Toreror ushEgar & foru udiemon
(B) SEI=T&U] HHT=ITAT ] HTheld
(C) Th foig 3R U faawwr < «ff= &1 gl =l #1o
(D) FHAT HIL 37T kT TI&
What is the primary purpose of Mahalonobi’s D? statistics ?
(A) Testing for variance Homogeneity
(B) Assessing multivariate normality
(C) Measuring the distance between a point and a distribution
(D) Testing sample means

argfeme =R X & T 1) = {26, x>0, mfewsn 7 HifT |

For a random variable X, f(x) = {2 e?*, x>0, find the median.

(A) _% In0.5 (B) —In0.5 ©) -Yinos

o Y

GET IT ON
Google Play

T VN Sy S S S
Tt -1 kRl

a. 9y wile . Q
b. 3TTESH IIl. HTETHS =W
c. fewmm . Sofird =]
d. SR = IV, 3TRcARH
%<
(A) a—1I b-1l c—|l d-1Vv
(B) a—1i b-1 c—Il d-1v
(C) a-1l b-1 c—1Vv d-1l
(D) a—-1Vv b-1 c—Il d-1l
Match List — | with List — Il and select the correct answer from the codes given below the lists.
List -1 List -1
a. Box Plot . Q,
b. Ogive Il. Quantitative variable
c. Histogram lll. Categorical variable
d. Bar chart IV. Outlies
Code :
(A) a—1I b-1 c—1l d-1Vv
B) a—1I b-1 c—Il d-1Vv
(C) a-1l b-1 c—1v d-1li
(D) a—-1Vv b-1 c—I1l d-1l
=1 1 T 3T § Safeyd Hif
|. I TS dehfcueh IRehedH T dIR AT
11 ot o
1. wieror Eifereh!
V. FTehaT & (o) AT
= feu T e | FE IW AT
(A) L1 Iv, i B) LIV, 1,1l (C) 1,1, v, 1 (D) I, 01, 1v
Arrange the following steps in a sequence :
I. Formulate the null and alternative hypothesis
II. Make a decision
Ill. Compute the test statistics
IV. Choose the significance level ()
Choose the correct answer from the code given below :
Code :
(A) L1 Iv, B) LIV, 1,11 (C) 1,1, iIv, 1 (D) I, 1, 1v
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70. & TR SieH difeterl % 10 20P25 1 | <=1 BT 7

GET IT ON
Google Play

g x 10 15 20 25 30
Ix 97817 96923 95510 93393 90159
What would be the value of 20P25 for the given life table ?
Age x 10 15 20 25 30
Ix 97817 | 96923 95510 93393 90159
(A) 0.02 (B) 0.98 (C) 0.95 (D) 0.96
71, FE — 1 g — 11 E1Y ghfeTa St e gl o e feu e e & wd s gRe
it - | TR -1l
a. A9 B TER 3Uas & l. P(AnB)=P(A).P(B)
b. AT BT & Il. P(A) < P(B)
c. ADB . P(ACUBC)=1
d. AcB IV. P(AuUB)=P(A)
e
(A) a-—I b—IV  c—II d—1i
(B) a—1Il b—1lI c—1IV d—1
(C) a—1IV b—I c—1ll d—1i
(D) a—1ll b—1 c—1IV d—1i

Match List — | with List — Il and select the correct answer from the codes given below the lists.
List -1 List -1l

a. A and B are mutually exclusive l. P(AnB) =P (A).P(B)

b. A and B are independent II. P(A) < P(B)
c. ADB . P(AC U BC) =1
d. AcB IV. P (AU B) =P(A)

Code :

(A) a-I b—-1IV c—Il d-1l

B) a-1l b-1l c—1IVv d-1

(C) a-IV b—1 c—1ll d—1li

(D) a-ll b—1 c—IV d-ll
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72. = g %oF B T & U 1 AR (A) 9T G I HRT (R) T TR |

JAfireRed (A) : faves et 1 3TN afieRtor THEati | fohet 79 STaciieh ol 3Heh! faRivarsti
% AMT o YR R foret fomiy ot § ffdse s & ferw foman Smar 2

RO (R) : Tovies e Teieh o & TEfid Ush T 3Taetieh ol TTiehdl <hl TOMT <HdT 2 |
= fou o e @ wE I g

%<

(A) (A) 3T (R) GHI & & 3T (R), (A) ! Hel SATEAT HLdl &

(B) (A) 3T (R) GHI & & W (R), (A) hl Hel SATEAT Tl idl &

(C) (A) | B W] (R) TTerd 8

(D) (A)TTetd ® W (R) &l B

Given below are two statements, one is labelled as Assertion (A) and the other as

Reason (R).

Assertion (A) : The discriminant function is used in classification problems to assign a new
observation to a particular class based on the values of its features.

Reason (R) : The discriminant function computes the probability of a new observation belonging

to each class.

Select the correct answer from the codes given below :

Codes :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false

(D) (A) is false but (R) is true
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73. FI — | S FE - Il < TrY Guford HITC 1 Fre - e G T fe @ w@ W g

gt -1 g -1l

a. TSI I FIhTH . = T TR @R
b. TATEUIHT T II. SR HI AR @R
c. e IGRHUT T/ . Pgy x Qgq = Voq
d. THI ISHHU S/ wierr IV. PgyxPyg=1

Fe:

(A) a-| b—1I c—I d-1Iv

B) a-Il b1 c— I d-1Iv

C) a-| b1l c—Iv  d-1

(D) a-IV  b-ll c—| d—1i

Match List — | with List — Il and select the correct answer from the codes given below the lists :

List -1 List -1
a. Paasche’s index |. Downward bias
b. Laspeyre’s index Il. Upward bias
c. Factor reversal test . Py xQgq = Vo4
d. Time reversal test V. Pgy X Pyg=1
Codes :
(A) a-1I b—Il c—1l d-1Iv
B) a-1l b—I c—lll d-1v
(C) a-I b—Il c—1v d-1i
(D) a-1Iv b1l c—| d—1li

74. NI A 39 YR 10 i fF SRSWOR H THT H1E T TEAT IET 3R 6 SRSWR H 9T AT
% TET I S 3T &l

Find the value of N such that the variance of the sample mean in SRSWOR is precisely half of the
variance of the sample mean is SRSWR of the same size

(A) (N—% (B) (N+%

C) (N?+1) D) (N2—1
(C) 4 (D) ( %
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75. I Q1 U 8 TH ¥ T I AR (A) TAT GEL 1 HRI (R) Ha1 T 8
AR (A) : T2 THAT HTHR b TS § TR-TFT FfE Hl THISHT HH B ¢ |
THRUT (R) : S T I TR TThc <hl 311 TERT hl 3R o ST 7 |
el few T g2 | @& I g
%: ¢ ¢
(A) (A) 3R (R) EHT T & 3T (R), (A) T Tl AT BTl B
(B) (A) 31X (R) Sl T & T (R), (A) ! TE =& T hier 2
(C) (A) & & Tg (R) TTeTd &
(D) (A)TIeTd & W (R) & &
Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R) :
Assertion (A) : There are less chance of non-sampling error in case of large sample size.

Reason (R) : Large sample size leads to more precision of the estimate.

Select the correct answer from the codes given below :

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false

(D) (A) is false but (R) is true

76. 6 NI 3T 9 AiGeN3Tl & THE H | 5 TN <l Teh HHIA bl w2H FoRAT S & | AfG =2 AgFeash
w9 ¥ feran SR @ Ak @ fop wffa o 3 gey 3ik 2 Afgend g ¢

A committee of 5 member is to be selected from a group of 6 men and 9 women. If the selection is
made randomly, what is the probability that the committee consists of 3 men and 2 women ?

(A) 0.239 (B) 0.159 (C) 0.359 (D) 0.415

77. T YCEH hell HETGETer & B (T, o3 T T Sl Th AT (9 § TR BT g7 Tohd
g | Wehar 7 T T oM I #i@ w1 § 0.50, T 0.65, T 0.55, AT AT T 0.80,
T 3T TRA 0.25, T 3R MR 0.25 FTRIhdT FA HITC ok Th BT AT HaAS 1 T2RH
HT 2 |
Students at a performing arts college can choose to study one or more classes of acting, dancing and
singing. The probability that student is studying acting is 0.50, dancing 0.65, singing 0.55, acting or
dancing 0.80, acting and singing 0.25, dancing and singing 0.25. Find the probability that a student

studies all these classes.
(A) 0.55 (B) 0.15 (C) 0.50 (D) 0.25

78. ARG T T Xy, X, 3T X, % T8 H I A & A Tgqw=-49 007 p o SO & a1 JoH A
T AT Tedwrd 8
If all the correlation coefficients of zero order in a set of three variates X, X, and X are equal to p.
Then every partial correlation of first order is

L (1+p) P 1—
™ 5o ® i © %_p) ©) (-p)/
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79. < fomiwansti A 3 B & fofw 97 5 (AB) = 256, (ap) = 768, (Ap) = 48,
(aB) = 144 d1 A 31 B 39 TN I3 7T &

(A) AR B HHUHS ¥ 8 I3 8 &
(B) A 3R BTHRIcHH &9 § IS 5T &
(C) A3 B 31 &

(D) A 3R BT 8

For two attributes A and B such that (AB) = 256, (o) = 768, (AB) = 48,
(aB) = 144 then A and B are associated as
(A) A and B are positively associated
(B) A and B are negatively associated
(C) A and B are dependent
)

(D) A and B are independent

80. 3TN 4 o Al W foraR HTd BY, Teh IeqreA Wishan sht fomrt o forg X frmmor = =t s
TRaT TR | YRS I % Tl X 3R R % WM i UM I R | 25 Tl hl R %SG
YX=525 MY R=0028d X Fremr = s ferw ucL =& ? femn Mm@ fh n=4 & forw
d, =2.088 3 A, =0.729 |

An X control chart has been used to monitor a production process, considering sample size as 4.
The values of X and R are computed for each sample. After monitoring 25 samples, > X = 525

and 2 R = 90. What will be the UCL for the X chart ? Given that d, = 2.088 and A, = 0.729 for
n=4.

(A) 18.27 (B) 18.37
(C) 23.62 (D) 23.52

81. @ A I HhIhd SEEAT A BY, SEEAT 4 % AMehIhd Joget T1d it | fean o 2 fo
A &1 CDR29.8 &

Compute the standardized death rate of population 4, considering population A as a standardized
population. Given CDR of A is 29.8

ZPXE =122000

> PP = 144000
> m;, P = 3834000
> m§ x Py = 4844000

(A) 39.7 (B) 26.6 (C) 33.6 (D) 31.4
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82. 3Afg wed p 3R UM for=e o WY IR N 6l Teh Hifia Teen & gfaemdd & fomr 3mesr
n &1 U Frgfeses a1 foran Srar 2 d gt % foht & gewt & ot wevEr €
If a random sample of size n is drawn without replacement from a finite population of size N with
mean U and S.D. o, the co-variance between any two members of the sample is

w < ® © N © 7
83. Urd IEq3ti o foTw =mey v 1 3R 3R a¥ 0 % fofu i 3R A1 & Icarer o1 A feam mon
g

P9, = 650, 3 p,q, = 1500
2P, =1000, }'p,q, = 1300
feu T 3Rt 1 TN B B IR B Hiwa gerehieh dE Bft

Given the sum of the products of prices and quantities for the current year 1 and base year 0 for 5
given item as

Zpoqo =630, Zpoq1 =1500
Y.p,d, =1000, Y p,q, = 1300

The Fisher’s price index number using the given data will be
(A) 111.35 (B) 86.60 (C) 115.47 (D) 75.05

84. I Q1 YA 8 T ¥ T I ANTRUA (A) TAT T S HR (R) Fal T 8 |
aAfrere (A) : TR ATgfEa 0 1 9 e FivEd ®9 & UF A% = ) Ha F@ 8,
T itaehar & off 3 Argfess = & ufafda & S g |
HROT(R) @ T fAfTea Stfterer & qrerd silkiesar & R wifer Afer stevas &9 8 99 T8 § |

(A) (A) 3R (R) BT @ & 3 (R), (A) I T =TT Bl &
(B) (A) 3 (R) ! @ed & 9T (R), (A) =l HEl SATEAT & a8
(C) (A) ¥ 8 W (R) Tod &

(D) (A)TeTd & g (R) 9 &

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : If a sequence of random variables converges almost surely to a random variable then
it also converges in probability to the same random variable.
Reason (R) : Almost sure convergence implies in probability but the converse is not

necessarily true.
Select the correct answer from the codes given below :
Codes :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false
(D) (A) is false but (R) is true

-24- 77


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247
iz

85. T =l U I § Efed Hifvu |
. Th STE W = X T-IX I T2Fe 1 9Tei i |

II. 38 ¥ 3R v Wad Sife i aRwrfid i |

IIl. SEEE TEME e | v & Wiaeel 3o i |

V. Sfces HEewiu g T <l TUHT i
= feu U e ® ¥ wE W g
He

(A) 11,1V, 1 B) 1,1V, 1,1 (C) I, 1,1V, | (D) I, 1, 11, IV

Arrange the following steps in a sequence.
. Construct a matrix W = X T-X is follows a T2 distribution.
Il. Define the matrix 3, and degrees of freedom v.
lll. Generate v independent samples from a multivariate normal distribution.
IV. Compute the sample covariance matrix T from the data set.
Choose the correct answer from the code given below.
Code :
(A) L1 Iv, B) LIV, 1,11 (C) 1,1, v, 1 (D) I, 1, 1v

86. T =l U TIHA T FIfRId HIFT :
|. AGRDH T Xy, Xg,..., X, b ITIHH T Fo=aR i |
II. SRICHIITE STEHAT AR i
1. Wk%mm?ﬂﬂ Sk=x1+x2+...+xkEﬁTrU'F|T<‘=lil
IV. STEHEAT 1 37 I8 fo@m & fou & o aifere @ s, us dfim 9 s1fuss 7 |

= feu U e ¥ | wE W g

He:

(A) 1,11, IV, I B) 1, IV, I, I
(©) 11, 1, 1V, | ) 1, 1L, 11, IV

Arrange the following steps in a sequence :
I. Consider a sequence of independent random variables Xy, X,,..., X
II. Apply Kolmogrov’s inequality.
lll. For each k compute the partial sum Sy = x4 + X, +...+ X,.

IV. Use inequality to show that the partial sum S, exceeds a threshold.

Choose the correct answer from the code given below.

Code :
(A) 11,1V, B) I, 1V, 1,11
(C) I, 1, Iv, 1 (D) 1, M, 1, 1v
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87. wfdesl T & fagra = & ?
a. HTHIAT <hl
b. SeraT 1 fagr
c. Tifershia Fafiaar &1 fagra
d. %o &l fagra
= feu U foehedt 9 & @& ST g
(A) e a, b, ¢ (B) had a, b, d (C) %ad b, c, d (D) %ad a, ¢, d
What are the principles of survey sampling ?
a. Principle of normality
b. Principle of validity
c. Principle of statistical regularity
d. Principle of optimization

Choose the correct answer from the options given below.

(A) a, b, conly (B) a, b, donly (C) b, c, donly (D) a,c, donly
88. = # ¥ IgHEAT HI €A &
a. ST ®UE fafu
b. 3NHA R Tad =W & S Geama-y
c. A fofsmear
d. ATed W Yfdsey
= fou e feepedi & @ @t W g |
(A) e a, b, ¢ (B) %ad b, ¢, d (C) %ad a, ¢, d (D) %9 a, b, d

Which of the following are the source of multicollinearity ?
a. The data collection method
b. Correlation between dependent and independent variable
c. Mode specification
d. Constraints on the model

Choose the correct answer from the options given below.
(A) a, b, conly (B) b, c,donly
(C) a,c,donly (D) a, b, donly

89. T # @ si9-t =hi¥ IR =@ &l A9 i fafr 2 2
a. Ao 3fiEa i fafy
b. Jrafire fafy
c. N fageror
d. gRHEI fergeryor
Fr fe T ferehedi # @ T et R |
(A) e a, b, ¢ (B) %ad a, ¢, d (C) %ad b, ¢, d (D) %9 a, b, d
Which are the methods of measuring cyclical fluctuations ?
a. Method of monthly average
b. Residual method
c. Periodogram analysis
d. Harmonic analysis
Choose the correct answer from the options given below.
(A) a, b, conly (B) a,c,donly (C) b, c,donly (D) a, b, donly
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90. = — | <l T — 113k |y GHCTA <hifoTe 7T G o = 74U MU e & | S| g

el - | -1l
a. SR fpmn &= | Ut feurfaat foraes st smmeRan <l €,
a1 HE % SUst gl @
b. TYca AT o II. TH ITTH} FHHRIAT ST G BT &
c. ShicHId I SLLN 11, IO RAT 3R IS % q8d 8¢ Wl 1 HUE
d. @ uad V. erme ffyea st
He
(A) a—1| b—1l  c—1 d—1V
(B) a-1IV b—ll  c—1 d-I
(C) a—1Il b-ll c—1I d—1v
(D) a—1i b-1 c—IV  d-ll

Match List — | with List — Il and select the correct answer from the codes given below the lists :
List -1 List -l

a. Borel sigma field I. Condition under which the limit of integrals
equal to the number of limit

b. Dominated convergence Il. Theorems describes the asymptotic normality
theorem
c. Kolmogrov’s SLLN Ill. Collection of sets closed under countable unions

and compliments

d. CLT IV. Almost sure convergence
Codes :

(A) a-1 b—Il c—1l d-1v

(B) a—1V b—Il c—1l d-|

(C) a-1l b—Il c—1 d-1v

(D) a-1lI b-1 c—-1Iv d—1li
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91. F — I T — 113 |1y GRferd <hifore 72 g & F= fgu U e ¥ wE S| g

GET IT ON
Google Play

- | T - I
a. 9.3RE. |. 9% gHfeaa Ll g [ T IT9R Ts @8 |
T T |§
b. JT.&.EN. Il. ATgfeehiehtor 3T Sldep(d sl HTewaehdl &
c. TA.TEZ, I, TRl % 1 Sl %
d. oft.3ms. & Iv. @uel & Wit gitadasficidr &1 & § W@ §
&S
(A) a—1I b-1V c—1l d-1
(B) a—1i b-1V c—Il d-1
(C) a-1 b -1l c—Il d-1v
(D) a-1 b-1 c—1l d-1v
Match List — | with List — Il and select the correct answer from the codes given below the lists :
List -1 List -1l
a. CRD I. Ensures that each treatment appears the same
number of times in each block
b. RBD Il. Requires randomization and replication
c. LSD Ill. Controls for two sources of variability
d. BIBD IV. Accounts for variability within blocks
Code :
(A) a—1i b-1V c—|l d-|
(B) a—1i b-1V c—Il d-|
(C) a-1 b -1l c—Il d-1v
(D) a-1 b-1 c—|l d-1v
92. F= —|§§§§ﬁ —||%wgﬁﬁﬁﬁﬁqw@ﬁ%ﬁ%%m?ﬁaﬁwgﬁq
-1
a. SEIUT JHMT S | SEE SEE § e Wiew 1 ude
H o foTu, 3w foham wrar &
b. BIefer =t T2 II. gt 6w
c. oY D2 1. 2 ST HTHT=IRTT
d. A V. 3ﬁ7=5 a9 gr JAfetfad s
%
(A) a-1Vv b-1 c—Il d-1l
B) a-1Vv b-1 c—1 d-1l
(C) a-1 b-1 c—1l d-1v
(D) a-1 b -1l c—1IVv d-1l
Match List — | with List — Il and select the correct answer from the codes given below the lists.
List -1 List -1l
a. Multivariate normal distribution I. Used to test the mean vector is multivariate
population
b. Hotelling’s T2 II. Measure of the distance
c. Mahalanobis D2 lll. Generalization of 2
d. Wishart Distribution IV. Distribution characterized by multiple
correlated variables
Codes :
(A) a IV b-1 c—Il d-1l
(B) a b-1l c—1 d-1
(C) a b-1l c—Il d-1v
(D) a b-1l c—1Vv d-1ll
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93. ot g fRE HEhl & 1Y FAR- =1 & fore gheror e smam 2

(A) UCL=D,R, CL =R 3R LCL = D,R (B) UCL=D,R, CL=R3RLCL=D,R
(C) UCL=D,R, CL=R3RLCL=D,R (D) 39U H & g &l
The trial control limits for R-chart with usual constant factors are 3 3 a
(A) UCL=D4R,CL=RandLCL =D5R (B) UCL=D,4R,CL=RandLCL=D,R
(C) UCL=D4R, CL=Rand LCL = DR (D) None of the above
94. BT T2oh! TP o fTT STEHTAT o W1G TR0 HEUE o &9 H A Hehd oh T ATTETehT
F % Tt fora ST Tl 2

Hotelling’s T2 can be approximated to statistics F with usual notation as test criterion following the
inequality for rejection as

(A) T2< n—_1F ,(n=p),aforn>p (B) T2> n-t F, (h—p),aforn>p
(C) T?2< Fp (Nn=p), aforn>p (D) T2> Fo (n—p), aforn>p
95. T & 3ATeheTeh b1 weT Wfded U B B 7
(A) IR (B) e (C) HTadn (D) <&t
Which of the following is the large sample property of an estimator ?
(A) Unbiaseness (B) Sufficiency (C) Consistency (D) Efficiency

96. WM TN (X} n> 1 H9H U9 Waaey ¥ faaia argfess =X 1 373A & e mrer 4 3 yawr 17
as IimPGZn:Xi >4.ooe)aﬂﬂﬂ%

n—w

Let {X,} n > 1 be a sequence of independent and identically distributed random
variables with mean 4 and variance 1.

Then |im p(lix‘ > 4_006j is equal to
RGN =T
(A) O (B) 0.5 (C) 1 (D) 0.25
97. fr=fefaa # @ sia-ar =afis 2 7
a. 3Ty +T,-3T3+T,
b. -8T;-T,+T3+3T,
c. Ty+2T,-2T53-T,
d Ty-T,+T3-T,
= fou o forpedi ® @ w1 W g
(A) &I a, b, ¢ (B) dd a, ¢, d (C) %ad b, ¢, d (D) %ae a, b, d
Which of the following is contrast ?
a. 3Ty +T,-3T3+T,
b. -8T;-T,+T53+3T,
c. Ty+2T,-2T53-T,

d Ty-To,+T3-T,
Choose the correct answer from the options given below.
(A) a, b, c,only (B) a, c,d,only (C) b, c,d,only (D) a, b, d, only
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98.

99.

100.

T — 1 T g - 115 |1 gHferd o

it -1 i -1l
2M
a. e l. X
2+m
X
b. a, oL+ Ty,
c. M, . dy/1,
d. T, V. T/,
:ﬁ%ﬁqmwﬁﬁaﬁwgﬁn
(A) a—1I b—1ll -V d-1il
B) a—1i b -1l c—I d-1v
(C) a—-1 b-1V c—|l d-1
(D) v b—I c—Il d-1li
Match List — | with List — Il :
List -1 List -1l
2M
a. e l. X
2+m
X
b. a, o1+ Ty
c. M, n. d,/l,
d. T, V. T/,
Choose the correct answer from the code given below.
(A) a b—Il =\ d-1ll
(B) a—1lI b—1l c—I d-1v
(C) a-1 b-1V c—Il d-1
(D) a b—I c—Il d—1i

gfe rEr‘mT:ﬁaﬁ 2N HFI T H 25 SehTsal o 2N~ 3AThR o scATeh o o fore Faifsra femam Sirar 2
ql TETferd €9 ¥ GARTA g9 St T §

(A) 2" —r (B) rP—r-1

(C) 2" —r—1 (D) ST § & IS &

If r effects are confounded in a 2" factorial to have 2" blocks of size 2" units, the number of
automatically confounded effects is

(A) 2" —r (B) rP—r-1

(C) 2" —=r—1 (D) None of the above
T @ g2l § WG i 7T 61 Ferd! ia fafy % g9 @l ger ¢

(A ) refepTiores ferfareramd (B ) 3Tcshifeter fafaerand

C) wshr fafaerar D) IWied i

Moving average method of fitting trend in a time series data removed the effect of

(A) Long term variations (B) Short term variations

(C) Cyclic variation (D) All the above
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